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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
3 73,592,243 37,449,221 36,143,022
= 732,158
Al 72,860,085
HEE AHHE =& 2,167,716 869,442 1,298,274
2/ Al 2el 715,695 129,137 586,558
3 A 2el 715,695 129,137 586,558
201 Let24dy] 49,725 47,567 2,158
01 At 22/l 34,200 34,200 0
O LA HRF2 7,600
O S8 MREIM M= 2,850
O Z2UN & FEEHAF M 1,900
O NLYXXSH HMESUMAEHINE M= 1,900
O sHgR=& MBI 19,950
02 =224l 15,525 13,367 2,158
O JAZHSSSRE 283 15,525
202 oddl 11,970 11,970 0
01 = LH &4 1l 11,970 11,970 0
O 3AHgR=&A 11,970
204 MR F | 639,000 54,600 584,400
03 EZ YA 639,000 54,600 584,400
O e sl 50,0003 *898H x12& 538,800
O 2MEE 80,0003 «14H x12& 13,440
O HE.s&dE 100,000& »2H »12& 2,400
O SRALHEE 60,000 *3H 122 2,160
O Hlarge 150,000& x7H 128 12,600
O NM=REE 100,000 x58H »12& 69,600
301 L2 A F 15,000 15,000 0
11IIEEAS 15,000 15,000 0
O MRIIHEILIN BEF=TE 15,000
Hiek2te] 267,072 255,395 11,677
H e etel 267,072 255,395 11,677
201 Let2d] 92,672 97,095 A4,423
01 At 22l 14,255 19,665 25,410
O H4PR=A M3 8,255
O 8K SNE* 6,000
02 2324l 72,000 70,300 1,700
O 2EXERX HMBHI 61,000
O A2 Zz 18 RAE+S 11,000
03 & Ar2 I 6,417 7,130 AT13
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202 44l 13,300 13,300 0
01 = LH o4 1l 13,300 13,300 0

O ALy =2 13,300
206 M= Hl 130,000 145,000 A 15,000
01 =8l 130,000 145,000 A 15,000

O XHeExIH 120,000

O =32cl 3 ¢ 10,000
207 Ao 18,000 0 18,000
02 & AR I 18,000 0 18,000

O HLFEIHAAE 25 18,000
405 RHoHE S HI 13,100 0 13,100
01 AL EZFH S 13,100 0 13,100

O Xae gaus 9 1,600

O =352l &) ¢ 5,200

O =32 el ¢ 6,300
THAt2te] 1,184,949 484,910 700,039
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201 L2l 43,925 61,515 A 17,590
01 At 22l 43,925 61,515 A 17,590

O TR 58 L 2BL22 1,000

O Marze 22 1,425

O ANEAMRI(=ZRX) SUHE 31,500
202 odl 6,650 6,650 0
01 = LH o4 1l 6,650 6,650 0

O Matze| 28 6,650
307 glz2tol & 364,374 298,250 66,124
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O NYXXNSHHEL SHIH(SESHIA) 213,656

O BAMoil=+ 2Haltl 150,718
401 AIEHIZ 28I 770,000 118,495 651,505
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02 Zeltl 43,000 0 43,000
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03 AIE S THHI 1,000 0 1,000
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HY2FZH (3 H D) 70,904,527 36,459,450 34,445,077
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= 732,158
Al 70,008,179
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01 2 63,651,988 32,539,330 31,112,658
O =3 46,129,072
- =3 42,632,308
A B (ASH) 88,227
EANE(HSH) 85,101
4 Z3(dsH) 71,116,000& »7H 497,812
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- IJIEY 888,480
- B 2 X 40,0003 x921H ~12& 442,080
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- NEHEHEXSS 343,706
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1090l & ~ 1540]8¢
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80,000& *x119H x12& 114,240
20501 & ~ 2540]8¢
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o= 16,800
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BANZJ(ZAM)  350,000% x4 *128 16,800
- SxX 2R 2,880
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=S 40,0003 1 128 480
- Ag2R=E 78,480
s 50,000& *70H x12& 42,000
=3 40,0003 «76H « 122 36,480
- Jl=g2=sg 133,560
5 = 50,0003 48«12 28,800
6~72 30,0003 229K 123 82,440
8~9= 20,0003 x93H «12& 22,320
- Jl=geg Jita 74,520
JlE M 50,000 «4H 122 2,400
JIs&,JlA 30,0003 155« 123 55,800
AR DA 20,0003 «68H 12 16,320
- == 39,792
7-82 38,0003 x2H x12& 912
SHEE, HEH, E=XMa S
270,000& x12H x 123 38,880
- ZHARASE d2+E 21,600
5 = 3,600
6= 0l 6t 18,000
- HegRag 430,690 «1H 128 5,169
— =yl 14,400
O ZASAH 130,000& x1,270H »12& 1,981,200
O FEFItdI
43,393,000,000& x1/12%60/100+23] 4,339,300
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b < Xt 40,0003 «8H x 128 3,840
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- s 2,880
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SANE 20,0002 «6H 122 1,440
- ZASAH| 130,000& x7H 128 10,920
- g2 x| 140,000 x7H 128 11,760
O AZHH A=A s (4Y) 139,853
- ¢S 28,744, 7503 x4YH 114,979
- MZAZR=Z 6,1603 #45A 2H+4H « 123 13,306
- IE=sE 1,200
o < Xt 40,0003 1«12 480
SANE 20,000 «3H 128 720
- UG A 104,000 x4 H «12& 4,992
- g 2=t 112,000 x4 H 128 5,376
O &=2+5(35%) 517,678
- B 1,155,500& 359 «10& *80% 323,540
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- g2 x| 105,000 35 x10& 36,750
- NZRRag
7,1043 «45A1 2t x35H »10E 111,888
204 MR FH| 2,201,760 1,260,240 941,520
02 22 X2l 2,201,760 1,260,240 941,520
O Ag=2 =l 2,201,760
- Al = 650,000& »12& 7,800
- 2 AN & 500,000& = 12& 6,000
-4 = 400,000 «8H « 12 38,400
-5 = 250,000& x76H 123 228,000
-6 = 155,000 »348H «12& 647,280
7 = 140,000 *526H 123 883,680
- 8~ 9= 105,000& *310¥ «12& 390,600
oA AL (S22 ) 100,672 105,210 N 4,538
= 100,672
101 1Al 100,672 105,210 AN4,538
= 100,672
01 2= 100,672 105,210 AN 4,538
O IIF2AHSE A 100,672
= 100,672
olE2gdi (o ael) 22,486 22,371 115
= 22,486
101 14l 22,486 22,371 115
= 22,486
01 2= 22,486 22,371 115
O el 1Al 22,486
= 22,486
ol 2 A (ALE = X]) 870,000 292,500 577,500
= 609,000
Al 261,000
101 @124l 870,000 292,500 577,500
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Al 261,000
01 2= 870,000 292,500 577,500
O A3 =S RIAL Q1A H| 870,000
= 609,000
Al 261,000
Jl=2Z2HI(3 A ) 164,190 77,760 86,430
Jl=2Zdl (3 A2 164,190 77,760 86,430
203 YR =&l 3,990 4,200 A 210
04 FENSELRZ=LH| 3,990 4,200 A 210
O BEM2EHRFaH| 3,990
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O JlEtxds daae(dsady) 400,000
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04 JI2tHIZ2 2 NEE S 36,719 36,719 0

O HEZFEIIA ZARE o2 36,719
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